PRODUCTION - CREATION OF A NEW ECONOMIC GOOD BY USING UP OTHER ECONOMIC GOODS.

DIFFERENT INDIVIDUALS WILL HAVE DIFFERENT MARGINAL COSTS (COSTS OF FOREGONE PRODUCTION) OF PRODUCING DIFFERENT GOODS

LAW OF COMPARATIVE ADVANTAGE

SOCIETY WILL EFFICIENTLY PRODUCE IF INDIVIDUALS SPECIALIZE IN PRODUCING THE GOODS FOR WHICH THEY HAVE THE LOWEST FOREGONE PRODUCTION OPPORTUNITY COST.

ECONOMIC INTERACTION AND SELF INTEREST WILL MOTIVATE INDIVIDUALS TO PRODUCE THE GOODS IN WHICH THEY HAVE A COMPARATIVE ADVANTAGE
PRICES WILL MOTIVATE INDIVIDUALS TO CHOOSE TO PRODUCE GOOD FOR WHICH THEY HAVE THE LOWEST COST.

EXPANDING TRADING OPPORTUNITIES TO ADD A SOCIETY WITH DIFFERENT PRICES (DIFFERENT COMPARATIVE ADVANTAGE) 

ALLOWS EXPANDED EXPLOITATION OF THE LAW OF COMPARATIVE ADVANTAGE 
THIS INCREASES THE AMOUNT OF GOODS AVAILABLE TO THE TRADING SOCIETIES

EXPANDING TRADE WILL RESULT IN LOWER PRICES OF THE GOOD(S) IN WHICH THE ADDED TRADER HAS A COMPARATIVE ADVANTAGE

EXPANDED TRADE WILL INCREASE THE AMOUNT OF GOODS AVAILABLE TO SOCIETY 

HOWEVER

THOSE INDIVIDUALS THAT HAD A COMPARATIVE ADVANTAGE IN THE NOW LOWER PRICED GOODS WII BE WORSE OFF FROM EXPANDED TRADE

THIS CAN LEAD TO OPPOSITION TO “EFFICIENT” FREE TRADE

1.  THE DISTRIBUTION OF THE GAINS FROM FREE TRADE CAN BE WIDELY DISPERSED WHILE THE “LOSSES” ARE CONCENTRATED.


??Loss of jobs


??Trade deficit

NOT THE REASON FOR THE OPPOSITION TO WTO


??Externalities

-USE OF CHILD LABOR


-POLLUTERS

SIMPLE PRODUCTION

INDIVIDUAL GIVING UP TIME, TRADING WITH NATURE.

SOURCES OF ADDITIONAL PRODUCTIVE GAINS (BEYOND SPECIALIZATION USING COMPARATIVE ADVANTAGE)

COMPLEX PRODUCTION

1.  ROUNDABOUT PRODUCTION

GIVING UP SOME GOODS TO PRODUCE INTERMEDIATE “CAPITAL” GOOD USEFUL IN PRODUCTION

SIMPLE EXAMPLE 

KIM’S PRODUCTION IDEA FOR 8 FOOD:

A:  8 HOURS OF KIM’S TIME

B:  2 HOURS OF CHRIS’S TIME (MAKING A TRAP)
                     

  + 6.5 HOURS OF KIM’S TIME (CATCHING)

OPPORTUNITY COSTS   -  KIM 10 LOGS PER HOUR






  -  CHRIS           6 LOGS PER HOUR

A:  OPPORTUNITY COST  (8 x 10)    

=
80 LOGS

B:  OPPORTUNITY COST (2x6 + 6.5 x 10)
=
77 LOGS

ASSUME THIS TRAP IDEA IS KIM’S, HOW CAN SHE EXPLOIT THE EFFICIENCY OF METHOD B??

PROBLEM -

CHRIS’S TIME IS DESTROYED WITHOUT CREATING ANY DIRECTLY VALUABLE GOOD!

OPTIONS FOR CHRIS:

1.  AGREE TO SHARE OUTPUT WITH KIM

PROBLEM: MAY BE A STUPID IDEA.

2.  AGREE TO SELL TRAP TO KIM

PROBLEM:  

 i.  KIM MUST DEFINE AND MONITOR THE EXACT CHARACTERISTICS OF THE TRAP (CHRIS WILL DESIRE TO MINIMIZE HIS EFFORT);

ii.  KIM MUST HAVE ACCUMULATED CAPITAL.
3.  AGREE TO SELL TIME TO KIM

PROBLEM:  

 i.  KIM MUST MONITOR CHRIS’S EFFORT;  

ii.  KIM MUST HAVE ACCUMULATED CAPITAL. 

COMPLEX PRODUCTION 

2.  TEAM PRODUCTION

PEOPLE WORK TOGETHER IN WAYS WHERE THERE IS NO SEPARABLE OUTPUT  (E.G., MOVING A PIANO UPSTAIRS)

EXTEND OUR DUVALL EXAMPLE OF GETTING 8 FOOD:







TIME (HOURS)




KIM

     CHRIS





   CHASING

TRAP
CHASING
METHOD A:  
     6 1/2


   2             0

METHOD B:
     5 3/4                 2              1

METHOD C:
       5                   2               2

OPPORTUNITY COSTS   -  KIM 

10 LOGS PER HOUR






  -  CHRIS          6 LOGS PER HOUR

A:  OPPORTUNITY COST  (6.5 x 10 + 2 x 6) 
=
77 LOGS

B:  OPPORTUNITY COST (5.75 x 10 + (2+1) x 6)
=
75.5 LOGS

C:  OPPORTUNITY COST (5x10 + (2+2) x 6) 
=
74 LOGS

ASSUME THIS TEAM CHASING IDEA IS ALSO KIM’S, HOW CAN SHE EXPLOIT THE EFFICIENCY OF METHOD C??

PROBLEM -

NO WAY TO ATTRIBUTE INDIVIDUAL’S EFFORTS TO THE EFFECT ON OUTPUT.

CREATES ADDITIONAL GAINS FROM MONITORING THE EFFORT OF WORKERS 

FREQUENT “SOLUTION”

1.  MANY INPUT OWNERS SELL THEIR TIME.  COMPENSATED BY “THE HOUR”.

2.  MONITORS (MANAGERS, FOREMEN) ARE HIRED TO SUPERVISE AND POLICE HOURLY EMPLOYEES.  MOTIVATED BY CONTINGENT PAYMENTS.

3.  ENTREPRENEUR RECEIVES DIFFERENCE BETWEEN REVENUES AND COSTS.  (RESIDUAL CLAIMANT)

4.  ENTREPRENEUR PROVIDES NEEDED CAPITAL.

THE MODERN AMERICAN CORPORATION
A SERIES OF COMPLEX PRODUCTION TEAMS USING COMPLEX ROUNDABOUT PRODUCTION
1.  REQUIRES LOTS OF CAPITAL

- CAPITAL SUPPLIERS LIMIT THEIR RISK SINCE THEY DON’T CONTROL DETAILS OF PRODUCTION

-OWNERSHIP THROUGH STOCK SHARES

2.  WORKERS WANT GUARANTEED (TIME BASED PAYMENTS)


- “RENTER” OF TIME INSISTS UPON CONTROL 


- MONITORING NEEDED

3.  COMPLEXITY REQUIRES LAYERS OF MONITORS






       CEO








    ASSISTANT VICE PRESIDENT1

PRODUCTION MANAGER1         PRODUCTION MANAGER2

 FOREMAN1
 FOREMAN2                    FOREMAN3       FOREMAN4

  W1  W2  W3        W4 W5 W6                          W7 W8 W9        W10 W11 W12

-”RESIDUAL PAYMENTS”  (STOCK OPTIONS, PROMOTION TO HIGHER PAY, BONUSES) OF INCREASING IMPORTANCE UP THE LAYERS

EFFICIENT PRODUCTION:

1.  EXPLOIT LAW OF COMPARATIVE ADVANTAGE.

2.  FOR EACH LEVEL OF OUTPUT CHOOSE THE PRODUCTION TECHNOLOGY THAT HAS THE LOWEST COST.

OUTPUT
TRAPS

  COST

MARGINAL COST

0


0


0


1


0


5



5

2


0


9



4

3


0


12



3

4


1


15



3


5


1


19



4

6


2


24



5


7


2


30



6

8


2


37



7







(LOGS $.50 EACH)

SUPPLY WITH PRODUCTION

PRICE = $4.10




 TOTAL
MARGINAL  AVERAGE

OUTPUT
  COST

   COST            COST

0


0


1


5


5


  5.00



2


9


4                     4.50


3


12


3                      4.00

4


15


3                     3.75


5


19


4                     3.80

6


24


5                       4


7


30


6                     4.28

8


37


7                     4.62

SUPPLY OF EXISTING GOODS - LAW OF DEMAND IMPLIES INCREASING MARGINAL COST

CONTINUE TO SUPPLY AS LONG AS PRICE EXCEEDS MARGINAL COST

SUPPLY WITH PRODUCED GOODS - COMPLEX PRODUCTION COMPLICATES MARGINAL COST

1.  AT HIGHER OUTPUT

EFFICIENT USE OF MORE ROUNDABOUT PRODUCTION TECHNIQUES CAUSES MARGINAL COST TO FALL

2.  AT HIGHER OUTPUT

LAW OF COMPARATIVE ADVANTAGE IMPLIES HIGHER COST RESOURCES MUST BE USED  (OPPORTUNITY COST OF ADDED RESOURCES RISES)

EMPIRICAL RULE

ROUNDABOUT EFFECT DOMINATES AT LOW OUTPUTS

COMPARATIVE ADVANTAGE EFFECT DOMINATES AT HIGH OUTPUTS

MARGINAL COST FALLS THEN RISES

EXPECTED PRICE OF $4.10

INVESTED IN 1 TRAP

ACTUAL PRICE IS $2.75

PROHIBITIVELY EXPENSIVE TO ALTER THE LEVEL OF CAPITAL EQUIPMENT RAPIDLY  (MUCH LIKE THE EFFECT OF RESPONSE TIME ON ELASTICITY)

RELEVANT COST OF PRODUCTION - TAKES AS GIVEN THAT 1 TRAP HAS BEEN DUG


                TOTAL  ECONOMIC MARGINAL AVERAGE

OUTPUT  COST
  COST           COST            COST  

0

6


1

7


1


    1
                 1.00

2

10


4                        3


  1.50

3

12.5


6.5                    2.5               2.20

4

15


9                       2.5               2.25


5

19


13                       4                2.60

6

25


19                       6                3.20
COMPLEX PRODUCTION IMPLIES

MARGINAL COST DECLINES THEN RISES

AVERAGE COST INTERSECTS MARGINAL COST AT THE MINIMUM OF AVERAGE COST

A SELLER’S OUTPUT DECISION IS TO SUPPLY AS LONG AS PRICE EXCEEDS MARGINAL COST AND MARGINAL COST EXCEEDS AVERAGE COST

A SELLER’S SUPPLY CURVE IS GIVEN BY

MARGINAL COST ABOVE AVERAGE COST

COMPLEX PRODUCTION USUALLY IMPLIES A SIGNIFICANT TIME LAG BETWEEN PLANNING THE EFFICIENT PRODUCTION TECHNIQUE, ENGAGING IN ROUNDABOUT PRODUCTION AND PRODUCING GOODS TO SELL

A PARTICULAR PRODUCTION TECHNIQUE IS OPTIMAL FOR A GIVEN LEVEL OF OUTPUT

A CHANGE IN THE PRICE CHANGES THE DESIRED OUTPUT AND THE DESIRED PRODUCTION TECHNOLOGY

THE COSTS RELEVANT TO DETERMINING THE EFFICIENT PRODUCTION TECHNIQUE INCLUDE ONLY THE OPPORTUNITY COST.  PAST, SUNK INVESTMENTS IN ROUNDABOUT PRODUCTION CAPITAL ARE NOT OPPORTUNITY COST.

WITH A SHORT PLANNING TIME TO ADJUST OUTPUT, MUCH OF A SELLER’S ROUNDABOUT PRODUCTION CAPITAL CAN BE CONSIDERED FIXED.

WITH A LONGER PLANNING TIME SELLER’S CAN EFFICIENTLY ADJUST THE USE OF ROUNDABOUT PRODUCTION CAPITAL.

THUS WITH A LONGER PLANNING TIME WE EXPECT A GREATER RESPONSE IN QUANTITY SUPPLIED TO A PRICE CHANGE.

(SUPPLY IS MORE ELASTIC WITH A LONGER RESPONSE PERIOD)

